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QUESTION 1

Which type of BGP is used to peer with a different autonomous system?
A. external

B. classless

C. dynamic

D. static

Correct Answer: A

QUESTION 2

You are designing a multicast topology to support IPv4 IPTV broadcasts in your organization. The design should
support multiple multicast senders with overlapping group addresses while preventing interference between them. Client
devices currently do not support IGMPv3.

Which approach would fulfill these requirements?

A. Implement MLD.

B. Assign group addresses in the 224/4 range and implement PIM-DM.

C. Implement PIM-SM and SSM with SSM maps to support IGMPV2 clients.

D. Implement bidirectional PIM.

Correct Answer: B

QUESTION 3

Which two statements are true about IS-IS levels? (Choose two.)

A. Level 1 systems use a default route to reach AS external routes located in other areas.
B. Level 2 systems must use the loopback address as a part of the ISO network address.
C. Level 1 systems only from adjacencies with other systems that have different area IDs.
D. Level 2 systems do not advertise Level 2 routes into a Level 1 area by default.

Correct Answer: AD
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QUESTION 4

You have multiple BGP routes to the same prefix with equal local-preference values and AS-path lengths. In this
scenario, which route will be preferred in the route selection process?

A. The route with the least preferred origin value.
B. The route with the lowest MED value.

C. The route with the most preferred origin value.
D. The route with the highest MED value.

Correct Answer: C

QUESTION 5

You are currently using VLAN IDs 2 through 300 within your Layer 2 domain and you need to configure VSTP to prevent
loops. You must ensure that all VLANs are loop free.

In this scenario, which statement is correct?

A. You must ensure that the VLANSs are balanced between two different root bridges.

B. You must enable RSTP to account for all VLANS.

C. You must ensure that the bridge priority is set to the lowest value on all switches in the Layer 2 domain.
D. You must enable all VLANSs, 2 through 300, under the VSTP configuration.

Correct Answer: D
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